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B. Com Sem-6 Assignment (Academic Year: 2023-24)
Subject: Management Accounting (English Medium)

Q.1  The standard mix of Product M is as follows:
Materials | Kgs. | Price per kg. (Rs.)
A 25 4
B 35 3
C 40 2
The standard loss in production is 20% of input. Actual production was 2,400 kgs.
Actual purchases and consumption of materials were as follows.
Materials | Kgs. | Price per kg. (Rs.)
A 650 4.50
B 950 3.50
C 1,200 1.80
Calculate the following variances:
(1) Material Price Variance
(2) Material Usage Variance
(3) Material Cost Variance
(4) Material Mix Variance
(5) Material Yield Variance
Q.2 Standard labour hours and rate per unit of Product Z are as follows:
Labours | Per Unit Per hour
(Hours) | wage rate Rs.
Skilled workers 10 4 '
Unskilled workers 16 2
Semi-skilled workers 8 3
Actual production is 500 Units.
Labours Total Per hour
(Hours) wage rate Rs.
Skilled workers 4,500 5.00
Unskilled workers 10,000 1.80
Semi-skilled workers | 4,200 3.00
Calculate the following variances:
(1) Labour Rate Variance
(2) Labour Mix Variance
(3) Labour Efficiency Variance
(4) Labour Cost Variance
(5) Labour Sub-Efficiency Variance
Q.3  Explain the advantages of Standard Costing.
Q4 Sagar Co. Ltd is using standard costing system in operation for quite some time. The
following data relating to the month of March,2023 is available from the cost records:
Particulars Budgeted | Actual
Output ( in units) 90,000 97,500
Operating Hours 90,000 99,000
Fixed Overheads (Rs.) 1,35,000 | 1,50,000
Variable Overheads (Rs.) | 5,40,000 | 5,64,000
Working days 25 26
You are required to work out the Variable Overheads Variances and Fixed
Overheads Variances.
Q.5 Find out the following Sales Variances from the given data:

(1) Sales Value Variance
(2) Sales Price Variance
(3) Sales Volume Variance
(4) Sales Mix Variance




Q.8

Q.9

Q.10

Q.11

Q.12

(5) Sales Sub-volume Variance

Product Standard Actual
Quantity | Price per | Quantity | Total
(Units) | UnitRs. | (Units) Rs.

A | 1,000 4 1,200 | 6,000
B 2,000 5 2,500 | 17,500
C 3,000 6 3,500 | 31,500

Explain Variable Overheads Variances. How are they calculated?

The following earnings are available by investing Rs. 50,000 in a project. The cost of
capital is 10%. State whether the investment is desirable with the help of (1) Net
Present Value (2) Profitability Index.

Particulars | Rs.
First year 22,000
Second year | 18,000
Third year | 14,000
Fourth year | 16,000
Fifth year 10,000
The following two alternatives are present before S. Ltd. for investment in new
Project:

Particulars Project-A | Project-B
Initial Investment | Rs. 50,000 | Rs. 50,000
Estimated Life 5 years 5 years
Cash Flow Rs. Rs.
Year 1 15,000 5,000
Year 2 20,000 15,000
Year 3 25,000 20,000
Year 4 15,000 30,000
Year 5 10,000 20,000

The company’s required rate of return is 10%.
Find out the profitability of both the projects by following methods:
(1) Net Present Value
(2) Payback period
(3) Accounting Rate of Return.
Explain the following methods for evaluating a capital expenditure proposal:
(1) Internal Rate of Return
(2) Average Rate of Return
Write short notes (Any One):
(1) Relevant Cost
(2) Opportunity Cost
The following figures are taken from the books of a manufacturing concern for a year:

Particulars Rs.
Direct Materials 3,00,000
Direct Labour 1,00,000

Fixed Overheads 80,000
Variable Overheads | 2,00,000
Sales 8,00,000
Calculate the break-even point from the above information.
Calculate new Break-even Point in following cases also:
(1) If fixed expenses are increased by 10%.

(2) If variable expenses are increased by 20%.

Setu Ltd. manufactures two products X and Y. The following details relate to two
products:

Particulars Product-X | Product-Y
Sales Price Rs. 232 Rs. 392
Direct Materials Rs. 78 Rs. 110
Direct wage rate per hour Rs. 2 Rs. 3
Direct Labour hours 35 48




Q.13

Q.14

Variable overheads 70% 75%
(of direct wages)
Total fixed overheads Rs. 18,000.

If the labour is in short supply, then production of which product is profitable. If

 the production capacity of factory is 1,200 units of X and 1,500 units of Y and the

1,02,000 labour hours are available, then how much of the products should be
manufactured to get the maximum profit?
Write short notes on:
(1) Utility of Marginal Costing
(2) Key Factor.
The sub questions below are provided with more than one answers. Find out true
answer and also show your necessary calculations.
(1) The expected cost per unit of input are called —
(A) Standard Price
(B) Standard Cost
(C) Standard Quantity
(D) None of the above.
(2) The purchase department manager is usually held accountable for-
(A) Material Price Variance
(B) Labour Efficiency Variance
(C) Material Usage Variance
(D) Fixed Overhead Budget Variance
(3) Expenditure (Budget) Variance =
(A) Budgeted Cost- Actual Cost
(B) Actual Cost- Budgeted Cost
(C) Actual Quantity- Budgeted Quantity
(D) None of the above
(4) Fixed Overheads Volume Variance =
(A) Standard Rate (AQ-BQ)
(B) Standard Rate (BQ-AQ)
(C) Actual Rate (BQ-AQ)
(D) None of the above
(5) A“Zero” NPV indicates-
(A) Rate of return on Original Investment
(B) Rate of return on Average Investment
(C) Internal Rate of Return
(D) All of the above
(6) While evaluating capital investment proposals, the time value of money is
considered in case of-
(A) Pay- back Period method
(B) Average Rate of Return method
(C) Net Present Value method
(D) None of the above
(7) Contribution = Recovery of Fixed Costs
(A) True
(B) False
(C) Incomplete
(D) Can’tsay
8 is used when the total figures only are available.
(A) Contribution per unit
(B) Per unit variable cost
(C) Profit Volume Ratio
(D) Can’t say
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- B. Com Sem-6 Assignment (Academic Year: 2023-24)
Subject: Fundamentals of Financial Management (Both Medium)

Q-1)  What do you mean by Financial Management? Discuss the scope of Financial Management.

sllRUsla At WA 92 allgUsla AU dete] stlaell uAl 52,
Q-2)  Explain Profit Maximization and Wealth Maximization as goals of Financial Management.

sllRUslaA FAEetoll 3 1 Blase] HewHls0l wal Aulde] HedHls0l
ALl

Q-3)  Discuss the role of Finance Manager.
QUL AetesRell ¢@siA Ul
Q-4)  Briefly discuss the various concepts of Cost of Capital.
YSloll uscRetl QAU vauclsll 22 53
Q-5)  What is Over-Capitalization? Explain the Causes and Remedies of Over-Capitalization.
Ul Y50 AeA 92 Aotl S1RQN Wl G AHHCl.
Q-6)  Explain the various types of Working Capital.
stlallat YSlotl QLAY YsiRA qmesAl.
Q-7)  What do you mean by Cost of Capital? Discuss its importance.
Y3l USSR Aed 92 dof Hecel uHasal.

Q-8)  Write a note on:
1) Pay Back Period Method
2) Annual/Average Rate of Return Method
&8 ol Aull:
1) Ul 2 uka(d

2) AR dncRell £6(l utuld
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B. Com Sem-6 Assignment (Academic Year: 2023-24)
' Subject: Statistics (English Medium)
Unit 1 Testing Hypothesis

Que.1 Explain Terms: Statistic and Parameter, Type-I error and Type-II error, Level of
significance, Critical Region, Power of Test

Que.2 A stenographer claims that he can write an average speed of 120 words per minute. In
100 trials, he obtained an average speed of 116 words per minute with a standard deviation of
15 words. Is the claim justified?

Que.3 The mean of a random sample of 1000 units is 17.6 and the mean of another random
sample of 800 units is 18. Can it be conclude that both the samples come from the same
population with standard deviation 2.6

Que.4 The proportions of literates in two towns A and B are 30% and 25% respectively. If
sample of 1200 and 900 persons are selected from these population, does the two proportion
differ significantly?

Que.5 The mean I. Q. of a sample of 1600 children was 99. Is it likely that this was a
random sample from a population with mean 1.Q. 100 and S.D. is 15?

Unit 2 Decision Theory
Que. 6 Explain elements( Act, Event, Pay of Matrix) of Decision Theory.

Que.7 Write notes on: Maxi-Min Principle, Laplace Principle
Que. 8 Determine best act for the following pay-off matrix by applying
(i)Max-min principle (ii) Maxi-max principle (iii) Hurwitz’s principle( o =0.4)

(iv) Laplace principle

Event Act
Aj As As Ay
Sy 10 6 3 -2
S 5 -2 4 8
S3 -3 7 -1 6

Que.9 The cost price of a commodity is Rs. 7 per unit and its selling price is Rs. 10. The
commodity can be returned at Rs. 5 if it remain unsold during a day. The probability
distribution of its demand is as follow. How many units of the commodity should be kept

daily?
Demand of the commodity (units) 0 1 2 3 4
Probability 0.15 0.20 0.25 0.35 0.05

Que.10 The cost price of a thing is Rs. 2 per unit and its selling price is Rs. 4. The unsold
things during a week become worthless. From past experience the weekly demand of the

thing is as follow.

Demand per week

20

25

40

Number of week

15

25




Unit-3 Theory of Games
Que.11 Define terms: Game , Payoff matrix, pure and mixed stretagy. Saddle point
Que.12 Explain : Minimax and Maxmini principle used in the theory of games.

Que. 13 Solve following game proble.

Player B
15 2 3
Player A| 6 5 7
-7 4 0
Que. 14 Solve the following game problem
Player B

6 8 —-16 10
Player A [ 0 3 —4 4 }
18 4 10 4

Que.15 Solve the following game

[28 0 ]
Z2 12
Unit-4 Matrix Algebra

Que.16 Give difference between Matrix and Determinant
Que. 17 Explain following matrix : Identity matrix, Diagonal matrix, Symmetric matrix

Que. 18 prove that

1 2 2
A=12 1 2] satisfies the equation A2- 4A- 1= O wher I identity matrix and O is
2 2 1
Null matrix.

Que. 19 Solve the equation using inverse matrix
xX+2y+3z=6
2x+4y+z=7

3x+2y+9z=14

10 a 3
Que20 IfA=|2 7 c] is a symmetric matrix, find a. b and c. Also find a matrix B such
b 4 5

that A+ 2B =1, where I is a unit matrix.
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Y2 1: uRseueatl uReawl

Usl 1TUEL AHAl , yad ysiRell et ual oflost usiRell ofet  UlRAc 2ol U013 :
udlewgle] uHeRl ,selsdlell Yt udsdiell sau

Yl : 205 RollollsR A eldl 52 B 3 A €3 Hlo{l2 ual el cdull 2 B 120
15 Q. U 116 YaetHl €2 Hloll2 21c€loll AU 100 2L AN AR 5A FAHA
8 %1 Wwdsdlel sall 2 Al Aol elcll AR B aH s&l astal, A

ygl A 800 B AR 17.6 AsHlallow As (Aol Heats 1000 3Hlato oflost (Aeadall
Hels L WM AREL 518l AstA ¥ ool [Aeall As o AHRH Qeunl vl B 18
B 2.6 8 ¥ Rof YAl [Quctst

sl : 40 olloll ABA %ML @Al caulslle] YHIGL AesN 30,4 el %258 .
1200 2L olal ASAH W5 Wl Al .cUEARAA (Al Ul scUHl A & 900
20 58 wslal ¥ 6l YHIE) el dslalc Ads B

ysl ul GURYl AH QUL 99 cllnsletl As Redul AR offgHclloll uis 1600 : 5

15 [t Y 100 58l astat ¥ L (el AR of(&Hriloll uisslad Acll uHRHil
AERBs A dlA 82

Yele 2l Rbuic
ysl : 6laelact Rtdidel wesl (A uHHA (AndARs ,uestl ,)8)
ysl : 7250l drlldlciell Rvuid ,ay Ruid-o)3 :

ysl : 8o{lAetl dncr Alls 1R i) dy Relicd-0)3 (i) 93 Ruic-9[3 ( iii (
AUl Rletlict Ul 0=0.4) ) iv ( AR ol Rttt YHIE 3 @) otssl 5.

Yeall ®|é
Al Aa As Ay
Si 10 6 3 2
S, 5 2 4 8
S3 -3 7 -1 6

sl : 9AUs cRdoll USAR (M 3 7 .8 Aol doll QURBHA 3 10 .89 A cxd o .
5.AUA dl [Badetl vld Q 3HL URd wualHl AUA BERAx6{l HdLell decslls |
?(ActRal oA Y & Al £ dedl crdqull Aul A ]




cxdoll HioL 0 1 2 3 4
Uellclell 0.15 0.20 0.25 0.35 0.05

Ysl 1005 dide] Geulest WA 32 .8 U Aoll AsHEls AUQUEHUA 3 4 8%l A |
Aol AsclSlalotl QURL .axd scllBau eRallet of AU Al A otsHl us s &
ol dsloell wssL oA Yool B

wsclllS2uell 1ot 20 25 40 60

ascll3aledl vl 5 15 25 5

Yl :3Udell Rbuid
Usl L 1TUEL AHstel el (olg 2ure wal (A8t g ,adndR A@ls , ™ :

ygt .93 Rldict AHSAl-AY Al AY-RHclotl Rleddict Hi 93 12

ysl AlRAAl U AA B3 Al 13
Player B
15 2 3
PlayerA[ 6 5 7]
-7 4 0
yg Al RHAA Xt A 14
Player B

6 8 —16 10
Player A [ 0 3 -4 4 ]
18 4 10 4

Yyt 1501 Aell 21l B3t Rl

[228 102]

Yz : 43Qsq] ollero@lcd
Ul 16305 W Ranausell dstad weudl.
Yt . 17e(1Aetl AQsoll cautuaal Wl

AsH AMs AR Qs , [Asel @S

1 2 2
2 1 2
2 2 1
AsH AQs U O 9o ARs B.

Ul . 18uAd sA 3 A= 5201 ,A2-4A-1=0 of UMt 53 © UL




ygl .19 ALsell Heedl o[l At s G3AL

X+2y+3z=6
2x+4y+z=7
3x+2y+9z=14

10 a 3
2 7 ¢
b 4 5
el 3 RUAA+2B=1, % A AsH AQs O.

Ual 2061 A= AR ARs 8l Al , a. b el ¢ AW GURAA B ARs A
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Subject: Problems of Indian Economy-2 (Both Medium)

= AsH : 1 [Q2A AQuR w Qe AWR (A : -Unit: 1 - Foreign Trade and
Foreign Trade Policy :
1) W%t e 2ot ellclell [QZA AUREAL 23U ol [Bauul YAl 351l ual 53U

e Discuss the Changes occurred in the Nature and Direction of Foreign trade
of India during the Planning Period.

2) 214l A€l eatatoll etRdell [ARa AwR «ll[Qs] Yeaisat 52A. (2002 &l 07, 2009 &l 14,
2015 &l 20)
e [Evaluate the Foreign trade policy of 21t Century of India.
3) ARAML BRA%ets0 £ WHAH YSIAA s Ulllsat oA wal il
AUAW 520 o{lld durdl.

e Explain the Export Promotion Policy and Import Substitution Policy
implemented during Planning Period in India.

= UsH: 2 alllﬂ/ C{l@%ﬂ Ao5\ - Unit : 2 - Commercial Bank
1) AlRcHl QUL Aoslell 5113l ual yatld (@AW ol el

° Write a note on the working and progress of Commercial Banks in India.
2) ARdHL QWAL Aedl (38 U Vil @Al) olt Ul / UHRANAL uUl 53,
e Discuss the Problems of Commercial Banks in India.
3) @lRctell Aoglol Mol Yuiel Aeel s sMEl U wiot alfol o 53 el

Al

e State the recommendations of Narasimhan Committee and Khan Working
Group regarding the reforms in Indian Banking Structure.

= AsH : 3 R Aosell crtlQllél?.l oA : - Unit: 3 - Monetary Policy of Reserve
Bank of India :
1) Bd Qesall stal (AN ol cvil.
e State the Functions of RBI
2) B Aosell attauglat ol[Qott uRHIEUAMS WA 2JRUHs Ulalloll uUl 53,

e Discuss the Quantitative and Qualitative instruments of monetary Policy of
RBI.

3) llwel €2t B3d Aosell attauslal oAl wllew s2.

e [Evaluate the monetary policy of RBI during planning period.

= UsH : 4 $ARL Ul 8[01 ollg] :-Unit: 4 - Taxation and Black Money :
1) etirclal 52 Mol Yut cAetlloll uAl 52U

e Discuss the main characteristics of the Indian Tax Structure.
2) GlRcloll ccHiol 52 Hlaute{l Wil e,

e Discuss the Limitations of the present Tax Structure of India
3) eURcML sloU ollRlio{l AMRALAL 51N QU

e Discuss the reasons regarding problems of Black Money in India.
4) el A GuUR stou otdlisll WA QU

e Discuss the Effects of Black Money on the Indian Economy.
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1)  Note on: Audit of Share Transfer
olltl el AR ¥Rutecll ol A 3e.

2)  Explain Three (03) Main Documents and what points should the Auditor Consider while
examining that documents.

$Uo{loll HEcloll SlETURL 2ARL(03) EA%L UM Aol L ExAA%N] AU AL tUeAH
uutelte(l ottt dledl a2l 52

Memorandum of Association / RReSH s WARA 61

Articles of Association / w(Es@L A s AR 2Lt

Prospectus / (Qsttustuat
3)  Discuss the basic elements of the Auditor’s Report.
AU B2 wdalctotl Yol ofl Al 3.
4)  Explain the difference between Auditor’s Report and Certificate.
32 Udauet val 32 YHIRUA LA dslelcd MHpLel.
35)  Noteon /olltl clWl:
Clean Report / Al w@alcd

Qualified Report / wixlewon udauct
6) State the Auditor’s Duties Regarding Divisible Profit.
ad AR otgl i wB2Re{l 5% iU
7 State the provisions of Company Act for disturbing of dividend and duties of an Auditor.
8)  From the following information of Devarsh Ltd., ascertain Divisible Profit for the year

2021-22.
Year Profit or Loss Depreciation Depreciation as per
before Depreciation Provided Companies Act
2019-20 -40000 4000 14000
2020-21 -10000 6000 21000
2021-22 +80000 8000 28000

gadl (@ ofl o{lA QA HRA uell 2024-22 ol QU o8l A

ay YARL WAl | YARlell Rotales | susllatrl Yosolall
ol 5l /o35 9lot UARA
R01¢-R0 -¥0000 ¥000 1¥000
R020-21 -40000 S000 21000
R029-22 +¢0000 ¢000 R¢000

9) Distinguish between Auditing and Investigation.
(32 Ul WeAMBL LA dgleld Ul




SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD

B Com Sem-6 Assignment (Academic Year: 2023-24)
Subject: Law (Both Medium)

Unit-1
1. &yl 521Re{l catvau 2, @y sR ua 2 {loto(l3] $AR ARAA dslelc
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Unit-2
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Unit- 3
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Unit-4
1. dAARGL A QMU Usell cautuaar AW Ml AHoll ARAL dsleld UHLA.
2.5 WeA 2j? A5 51RO YsIR .U

Unit - 1
1. Define a ' Contract of indemnity °, State difference between ' Contract of Guarantee'.
2. Define ' Bailment '. State duties and Rights of Bailee.

Unit-2
1. State difference between ' Private Company ' and ' Public Company '.
2.Discuss the legal position of a director of a company.

Unit -3

1. Define the term 'Consumer' and explain the rights of Consumer as per the consumer
protection act.

2. Write note on Central Consumer Protection Council.

Unit -4
1.State difference between 'Promissory note' and ' Bill of exchange .
2. What is the meaning of Cheque? Explain the types of crossing of cheque.




SHRI K.K SHASTRI GOVERNMENT COMMERCE COLLEGE
MANINAGAR, AHMEDABAD

B. Com Sem-6 Assignment (Academic Year: 2023-24)

‘Subject: Commercial Comimunication (Both Medium)
Q.1 Write a detailed note of the following topics.

1.The old Gentleman

2 The little boy

3. Rakesh - as a Devoted Son

Q.2 Write a letter on behalf of an Indian Exporter to reply an Inquiry from a Foreign Importer.

Q.3 On behalf of Indian Exporter, write an introductory letter to an Overseas importer.

Q.4 Draft an Individual business report on performance appraisal of employees for Mint
Private LTD.

Q.5 Draft a Committee Report on the inspection of branches of the company situated in the
State of Gujrat.




